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void printFieldvalue(){

System.out.printin( () );
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class Y (1) {

inty =2 * x;
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void printFieldvalue(){

System.out.printin( (v) );
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class Z

class Kimatsu03 {
public static void main(String[] args){
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(7)System.out.printIn( "o2.x=" + 02.x + "02.y=" + 02.y );

}
}
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class X {
o o X
static int x = O; —
X: static int
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(1)
(7) "x=" + X
(1) extends X
(7) "x= "+ x + " y="+y
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class Z extends Y {
intz=y*y ;
void printFieldvalue(){

System.out.printIn( "x= " + X + "y=" +y + " z= " + z );
}
}
(3)
(4) X ol = new XQ
(#7) X 02 = new YO
(%) X 03 = new ZQ)
(7) o3.printFieldvalue()

(4)
(7) "02.x="" + 02.x + " 02.y=" + ((Y)o2).y
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Xx= 3 y= 6 z= 36
02.x=3 02.y=4



